20244 H AR~ A A — R /KKK IE KRS

el (FLR) =5

=5 0 LR 7 — 1 (25m) 1/2
WA 20246 H2H (H)
No.48 B+ 4x50m>21)—1) L—
R0 1:43.21
< 240~279% > AARE  1:49.01
B F—L4 BETEE K& B
1 F—SWIM 2435% 1/ 4 1:58.66
27.99 59.40 1:30.30
1 FH 1= ( 0.64) 27.99
2 Bl B (+0. 43) 31.41
3 fRHE B2 (+0. 44) 30. 90
4 TR RIA (+0. 28) 28. 36
2 YUCHO 2487 1/ 3 2:14.86
32.35 1:07.15 1:39.57
1 Wt EE (0.74) 32.35
2 WK FHi# (+0. 35) 34. 80
3 BA E4 (+0. 24) 32.42
4 A FEN (+0. 43) 35. 29
3 CANSAY T 2455% 1/ 2 2:31.21
33.24 1:06.27 1:46.68
1 A 1= (0.77) 33. 24
2 AR A (+0. 29) 33.03
3 WwmE B (+0. 46) 40. 41
4 FI  FEH (+0. 68) 44. 53
No.48 BF 4x50m>2!)—1Y L—
SR EC Bk 1:37.35
& 200~239%=% > AADS  1:40.26
B F—L4 BEHER K& BF
1 F—LAZ 2085% 1/ 6 2:12.90
26. 67 58.81 1:34.80
1 EBHEZI (0.78) 26. 67
2 EAE OB (+0. 49) 32.14
3 M CE (+0. 56) 35. 99
4 Fl #=E (+0. 67) 38. 10
2 MI SAKI 2277% 1/ 5 2:18.67
31.45 1:02.72 1:44.03
1 g 3k ( 0.66) 31. 45
2 EM g (+0. 41) 31. 27
3 RIS (+0. 42) 41.31
4 EH Ef (+0. 67) 34. 64
3 A b~ ALIR 2155% 1/ 7 2:22.26
31.36 1:05.12 1:44.96
1 AH EE (0.73) 31. 36
2 FE BN (+0. 65) 33.76
3 W R (+0. 48) 39. 84
4 ML EER (+0. 46) 37. 30
No.48 B+ 4x50m>2!)—1) L—
SR ET Bk 1:32.77
< 160~199%% > BA:E5H  1:33.23
B F—L4 BETERS K& BF
1 F—SWIM 1655% 2/ 2 1:51.68
27.05 53.77 1:22.63
1 HA &y ( 0.69) 27.05
2 PTHEF % (+0. 38) 26.72
3 =% &ik (+0. 40) 28. 86
4 HER FE (+0. 38) 29. 05

HAHKE: 6H2H 16:23



20244E H AR~ A X — R KIKEKIE RS dbifEE (RLIR) &5
25 ALR T 57— L (25m) 2/2
HIH : 202486 H2H (H)

No.48 BB+ 4x50m>21)—1) L—

R0 1:32.77
< 160~199%% > BASE  1:33.23
B F—L4 BETEE K& B
2 CANSAY T-i% 1677% 2/ 1 1:56.99
28.59  55.33 1:26.09
1 e AR ( 0.67) 28.59
2 WiE KB (+0. 37) 26. 74
3 kED 4 (+0. 39) 30. 76
4 FA BE (+0. 42) 30. 90

No.48 BF 4x50m2!')—1) L—

5 AR 8% 1:30. 83
< 120~159% > BAEE  1:31.65
B F—L4 BETE#ES 7K & B

1 YUCHO 1365% 2/ 5 1:40.28
26.21 51.03 1:15.75
1 W ( 0.73) 26. 21
2 EHH B (+0. 35) 24. 82
3 BE OBA (+0. 24) 24. 72
4 WA B3t (+0. 15) 24.53
2 S—4 1545% 2/ 6 1:40.57
25.70 50.58 1:15.50
1 W7 B ( 0.70) 25. 70
2 A Tk (+0.57) 24. 88
3 HEM ARk (+0. 32) 24.92
4 e (73 (+0. 14) 25.07
3 b« KL= 1495% 2/ 4 1:46.38
25. 54 55.33 1:21.40
1 EiE T ( 0.63) 25. 54
2 LR Ak (+0. 36) 29. 79
3 Wi A (+0. 48) 26.07
4 {FiE ERE (+0. 30) 24.98
4 TMR 1535% 2/ 3 1:50.22
30.80 1:01.73 1:25.82
1 KB\ B ( 0.75) 30. 80
2 SFM A (+0. 37) 30. 93
3 IR AER (+0. 05) 24. 09
4 KWE RKEE (+0. 13) 24. 40

No.48 BF 4x50m2!')—1) L—

R0 E% 1:30.73
L 12~119m% > BARSE  1:28.02
B F—L4 BEtER K& B
1 Apkas 997 2/ 7 1:40.75
25.71 50.96 1:16.28
1 W & ( 0.58) 25. 71
2 HE OHEE (+0. 47) 25. 25
3 kiE RN (+0. 42) 25. 32
4 FRIE B (+0. 49) 24. 47
2 JAZILG 1065% 2/ 8 1:48.72
27.65 54.49 1:22.36
1 /B E ( 0.70) 27.65
2 e x RERER (+0. 36) 26. 84
3 HH E (+0. 29) 27.87
4 Tk Mt (+0. 47) 26. 36

HATHEE: 6H2H 16:23



